
TABELA  PRZELICZENIOWA  RÓŻNYCH  JEDNOSTEK  TWARDOŚCI  WODY  
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Przykład: dla 

twardości wody   
300 mg/l  CaCO3  

po przeliczeniu  
otrzymujemy:  

6 mval/l  
3 mmol/l  
16,8 ºdH  

21 ºe  
30 ºf  

  

mval/l  1  0,5  50  2,8  3,5  5  

mmol/l  2  1  100  5,6  7  10  

mg/l CaCO3    0,02  0,01  1  0,056  0,07  0,1  

Stopnie 

niemieckie odH  
0,36  0,18  17,86  1  1,25  1,79  

Stopnie 

angielskie oe  
0,29  0,14  14,29  0,8  1  1,43  

Stopnie 

francuskie of
 
 

0,2  0,1  10  0,56  0,7  1  

 


